Answers to Fall 2009  Lecture test 2.

1  A   2  A   3  D   4  B   5  C   6  A   7  A  8  C  9  C    10  C   11  C   12  C

13  B   14   D   15  A   16  E   17  B   18  D   19  B   20   B   21  B  22  C   23  B

24   C     25   C    26   145     27   73°C    28   327     

29.   1s22s22p63s23p63d104s24p64d105s25p2

30   1s22s22p63s23p6

31   1s22s22p63s23p63d3
I.    746  torr.     B.  Solving for the moles of oxygen using PV/RT  gives 0.0100 moles.  The moles of KClO3  is   2/3  times the moles of oxygen.  Multiply by the molar mass of potassium chlorate to get a mass of 0.820 grams

II.   E = 4.84 x 10-19 joules.  ( I accepted a negative value here)


[image: image1.wmf]= 7.31 x 1014 s(1    λ  =  411 nm  or 4.11 x 10-7 m     

III.   142.3 kJ,  B,  867.7 kJ   ( no negative sign on B, because it says "produced")

IV.  I thought this was unusually difficult.


A.  + 155.65  kJ       B.  NO, +90.4 kJ,     NO2  +33.8 kJ   


and  N2O   81.6 kJ

V.  1.78 g/L     B    973 K
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